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Instructions :

W us: <n

Section A :

wue: g

Section B :

wue: 1

Section C :

wue: Y

Section D :

49

FHATHTE GV FHHGRI, FEHea=9 AGHII |

TET Gt 7 81, TET T o) 3 IR aepa 7 & org |

Answer all questions in Sanskrit, unless instructions are given otherwise.
ST 777 TR GUST: i |

59 Jo7-97 § GRGUE F |

There are four sections in this question paper.

TSI — TG (STUfSATT — JFTSG) 15 3ISHT:

Unseen Reading Comprehension

TR TEATCHehTE T (Tehd H T oiEH) 15 FAH:

Writing Skills in Sanskrit

ST — ST TRhaaT e qi=: = 40 + 10 = 50 JAHT:
(ITSATST — ST Ta TEhd Hlieed T

Reading Comprehension & Introduction to

History of Sanskrit Literature

BRISTEN: (V¢ T HTFN) 20 IGH:

Metres and Figures of Speech
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W@US: & (Section A)
ATTSATT — SR
JUfSAT — AT

Unseen Reading Comprehension

FYNARGTH IS Tl T Y= H&ha ILd |

Frfaftad QFT sTg=eal s Tgeht ST 71T T 9 I Thd H GINTT |

Read the following two passages and answer the given questions in Sanskrit.

() So: IR
“aRaay "o fafaedrmy vahdrr: goF wafd | aRaey: adfue: add | 3@
feg-gfecm-fRre-us some:  fafqggniaafem: fafden safx | wwdEm
IcqafieE: gf | HEf afe Icd: wadq o e ffere g ot | 3aey
TaYg IcATE: e wafd | auiar S gmiong fgem e gwre
IfSremfed 17

T T:
(37)

(®)

(%)

TehYed 30 |
T 916G H ST I |

Answer in one word.
(i)  Yd: hIgY: : Fd ?
(i) WY HET: <9 Hafd ?

qofaTRH I |

ot TRy | IR I |

Answer in a complete sentence.

7T < Sifvrsesl fepmfeq 7

AT I |

FATRHGY IR EIT |

Answer as directed.

() wHaEf 3fd fRmaes shue foem ?

(i) ‘THNE: 3fd e foh TRy 31 WY ?
(i) A" i IS Y YA 7

(iv) ‘edfraer:’ gfa foremorer fosrsg fory 7

15 3Aghl:

nx2=1

Lix4=2

[P.T.O.
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(@) foha: sg=se:

“HAfE 3NYFTR I ARG FEAU FHEN Fad | 3R T AR
SIS FT: T Fad | W hed CuN: IEHY GRIforeh Sitad sfegfiesf< |
TGN CRM: FHSRE I1d F=si~i | d § STasharicdl TRANY heal SATagharg
JaRAf | STagRdIea e I Tavg] Wafd Idifs a& qair GHTeHTH
IASHATCH IR0 FAHTH Wal=d | 7 RIS AG: < I SAAGHACH ST A
T9IA | UTRAT: THERT: FHIH qrad 1 wiasafa araq aeqet fass mefden foe
I | it |7
THT:

(31) TohYCH 3T | 1x2=2

Teh &g H IW G |

Answer in one word.

() STASHINTSAT I hT HTEZT Wafd ?

(i)  3TAgHATER RIS ST et waf ?

() quleTeRF I | 2x1=2
oot TRy | IR IR |

Answer in a complete sentence.

IATAGHINSAT I I~ YUY HTEGT afd ?

(®) T 3T | 1x4=4
FJUTHE I GT |
Answer as directed.
() ‘wivafa sfa framree sque fory 7
(i) A i TETHIE HE YT 7
(i) ‘“rfoTeRy’ i fereryore ferersy fepe 7
(iv) ‘e’ 3 faetimug forg ?

(7) T STT=0eH Td IFIH Ifeh TeeheH forE | 2
39 TG o foTu I ¥five Heapd H feTam |

Write a suitable title for this passage in Sanskrit.
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@Uus: @ (Section B)

P TGO

HEhd T TS TG
Writing SKkills in Sanskrit

oSN : SFIaegehd ™ TaicdT STEifcTRadT el 4 TR 44 foreq |
o[ ¥ 3fod Fghd ekt HHTTREd T sl 0 hteh 4H: fafan |

15 3ghl:

1x10=10

Complete and rewrite the following story, with the help of the words given in the box

below.
YT

“HETIRages 3= Jg1 is: o e el dudl dH Aqesd — I

qaTT

Giy T SR T W, qel W B T W o T 3 ?

H Wlezd fomed 9 (7 70 ofiH: Jreed — W FAel QR () 31 i |

YRR ST YU 3TE () S STEEel: e | S g A e —

TR HA T (ypp) W foeeee srguary ? ot Seed — (I T (g

HH

qrE: B Sfeusd | o W () e S, o 9 SeEisweq 1

AR SRt — I Sfd: W st T (7 3w gl

FT=BY;: |
A
TS, §(g:, T, G:2TEA:, TIHH, Had:, Wiodes,
oY, Y, 3T |

oS YT feree “warierery 3t ferser stfiehed weat S HEho fored |
TSN & ¢ AR TR’ forsR W weehd H die At ferfaw |

1x5=35

Write five sentences in Sanskrit on ‘Environment’ (W‘TE!TUITL) with the help of the

words given in the box below.
TS
TG, Y, I, T&:, EHIGYoH, Halld, ST, 91;,
TTEd, T, T, TeHI:, WG, Hfarsehi:, FEiofam, sfaet:,
gftrd s, T |

[P.T.O.
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@ug: T (Section C)
Tl ST FEhaEIRE T 9
IS - FHTNY T TEhd Alieed TR

40 + 10 = 50 FGHT:

Reading Comprehension & Introduction to History of Sanskrit Literature

FUNARGT TSl e, eI = Ufee JeaqssH Fhdd 3T |

frferfa e, Ter qe e i ggeht feU T SRHT 3 I FEehd | 4T |

Read the following prose, poetry and drama passages and answer the given questions
in Sanskrit.

(%) e

“TEISTHITG:, 3TTEd o |1 T0:, 3T YT wreent: fagiga - wmamie
TEUT - [T -SRI Tfase: | Shefforhl=Teeshted: TRYUY ey

gferfrerded | ST SfaeumaResTient vamar ot |7

T T

(37)

(¥)

(%)

ThHUCH I |

Teh V15 § ST T |
Answer in one word.

(i) =T TATHAT Herf=d ?
(i) o: I forfy: afed ?
YUETeR 3T |

ot TRy | IR IR |

Answer in a complete sentence.

3 ey gfEdR 7
AT I |
FYTHE I T |

Answer as directed.

() T R E: ?

(i) ‘v’ 3rey feretiue fom

nx2=1

1x2=2
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(@) =

()

“qraTf~aratd asEd fEam,
et et o s |

ATYEd o 7 &I CaTfed ohied,
TfrEaeTtg sEef~ a=: 11”7
T
(31) TG I | Vax2=1
Teh V15§ ST GIT |
Answer in one word.
() : 9T ferafd ¢
(ii) =f 5 A ?
(9) ofaTeRH I | 2
ot TRy | IR IR |
Answer in a complete sentence.
af e 5 wafa 2
(|) iy I | 1x2=2
FTHER I |
Answer as directed.
() T 3t wqree frme e ¢
(i) QI I e fRe ?

T

‘A GRHATA I | THEH IR STHE: |

ed: : HU T ?

aF: ;A gEl: | ufedha fg iRty denvey | 6 T vy 7 yok waEeE:
HAre! groeA! g Waar: | afe = favereac=sa |

Fea: W W | fhsHsTee: aiea: wefa o

T T:
(31) TG I | Yax2=1
Teh 36g H IR T |
Answer in one word.
(i) <hIgH: 3 3179: ?
(i) FsATRY: fo afegam ?

7 [P.T.O.
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(9) ofaTRH I |
ot TRy | IR IR |
Answer in a complete sentence.
Tfarar: shigem: @i 7
(|) TG 3T |
FTHGH IR T |
Answer as directed.
() “Afer:’ 37 ugw v ®: 7
(i) “fagm:’ 3r= yew foetmue fopy 7

eI Hettea forad |

S1ec] kT 31T O firerH wtes feaflan |

Match the words with their meanings and rewrite the same.
IeqT: HAYl:

(31) Ff: () AR

(¥) e: (i) Tda:

(W) ISlaq (i) W

(3) I=a: (iv) <Us:

TETTghduer Y YET Fed |

TETfEehd UgT % SMYUR W Y- fmior Hifsre |

Frame questions on the basis of the underlined words.
(i) droreRT: FeagToT S |

(i) S ST <hIsaeh Fefiq: srvrery |

(iif) TR <o wHTEAfd |

(iv) TG T A T FA |

1x2=2

Lix4=2

1x4=4
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FrenfeTRgawTaTee: feremyfd FesuIeagRIaa Hel forad | 1ix12=6
frfetiaa QT wrenet # wes ¥ feu 7w wrsgt <l wErraT | ferdeer i 6 gfd ek fafen |

Fill in the blanks in the following two explanations with the help of the words given

in the box and rewrite the same.

(31) “feren =mfera 9 IEdgevE 9% |
Afereren 9oy i ferernsgansgd 117
e
éshqﬁqﬁq;rm—a (i) AT SR T2 STTEAT cHeh [SeT: (u)

R T () W S gem: T ) Tl SRR T () W

Earejreey STETTHAE T, (vi) T on ydfd |

@) “Frad % H o B SITA FHAT: |
IR = 9 7 Seeieshyo: ||
rarel:

sfigpor: Frorqufefa o aged: Tt Frrarty = ;7 ol | = 59w T
wad\ugwmﬂ?ﬁ e - (i) ﬂaﬁ | STHHT: T~ o (iv)

AR AMT ™ oy ) | st o i) |
el
S, SHEIT, SHAf, aTesid, gad:, IRy, $%, fbgafd, is:,
Aifepen:, 34, ferem=maT |

ARG AR STgy NFaeIM Y Hed | 1.5+1.5=3
freferitaa QR vetient o 31l § feremt &t qfd hifse |
Fill in the blanks in the following prose-order-renderings of the two verses.
(31) “¥ g SafeomeET
gt frem IR |
S[AThTST JSTET JehTI:
st fmTfad: |

JHY:

q: 3faes: () I S dfafeomm@m — (i) a3 e
T (i) S S IS |

9 [P.T.O.
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(F) “dvaTcg=s Jgid g o= garcsem,

Erelrfia: @ warfdl, GUEde TR U |

ITSATO e SRl TR (UUS TR,
T SmETsSa | gHgwEafe I 1|

HAAY:

() U= Jgfd, T= 315 gHifd, §: <refia: wafd, o

(i)

a?omqawaz)srmﬁaﬁr(Twﬁkumﬁuw@ﬁ:m?a

9 G A, TR, T, I |

AT I |
YT I T |

Answer as directed.

(31) whque foramae = fogd |

(%)

(%)

el T e g |

Select the subject and the verb.

() Tt = qEvEeE: fawy |

(i) ®: FHGAR e TEYSITeNTSa=R faam STl |
fersroTag foa |

fersror 9e gw |

Select the adjective.

(i)  STTTane T3 7R fersrfer geHaeRron: |

(i)  HITeh &4 °h°|('1r\|°g>(1lrl\-|°| A |

FenferRaqugR: TS fehaeamTHYE 1T TR ?

freferfiaa dfemn & t@ifera g ug fopes fore sgaa gu g ?

In the following lines for whom are the underlined pronouns used ?

()  pasfas: st s~ ot |
(i) ST < ot sfesde |

»LxXx4=2

1x2=2

1x2=2

FrefaRaaugaaen qushg:” qon g’ gfa gean: game ue fadqer forea | 1x2=2

frefarRaa ufea & @ “osen’ qen R ugl o gEmTi Ug e fafau |

Select and write the synonyms of the words ‘WshH:’ and fRH’ from the

following lines.

() 378 o TehTe THSUETHIGR 4R U IR Jafedisyey |

(i)  TEICE S I ARGAHATATAEHY 3TTel T |

10
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Q)

(1)

(¥)

(1)

(%)

%: & HYAM ? vxd=2
HH fREhI FE T B ?

Who is saying this to whom ?
() ‘99 ATC AT SATIsHE THITA: |

(i) “ra fSra B faaIg | I qead T ST w1 |

AN ARTATGH T HEATY TR ey I ferad | 1X5=5
fraferfiga Trgent & fordt e e w1 AW forfigu |

Write the name of any one work of each of the following poets.
W, T ST, SgeATE:, ST, Qe |

N ferREaam T eRgehHT AT foreq | 1x5=5
Fr=forfaa Tt & oRgen & 9 fafau |

Write the names of the authors of the following works.

ANy, et osr:, IS, Jera-weer, RREead |

@us: ¥ (Section D) 10 + 10 = 20 37T
Bq @Y AHcTghR
Metres and Figures of Speech
T 3 | 1x2=2
YT o TR I |

Answer the questions.
(i) ‘P IF BT 7
(i) ‘gqsater:’ 3 @ T TT: To: 9T ?

STARGATCATI: FLI | 1x4=4
ffetfiga whtamsnatt w6 qu hifsm |

Complete the following definitions.

G ‘. I&fEsayr

(i) ‘TR T |

(i) ¢ Trfert wifiretieh: |’

(iv) AhTSTERT |

TeerqeaTea: 55w grefm=r: ||’

11 [P.T.O.
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(%)

()

(¥)

(%)

()

ANTARTTN: T el : 31807 forad | 2
Frenferfad U § e B 1 3¢E ffigu |

Write an example of any one of the following metres.

e, rafof |

Frdifefadug: foh b wwe: 7 1x2=2
Frefefad dfeaai H dH-PH TBC B ?

What is the metre in the following lines ?

()  3TUed I 7 &I garfd et |

(i)  ATTEEEAHG HetaUe A= gL 3 |

FIARGAAT: HEATIHE ANAGHIE HIGTE A& fofad | 3
Frforfaa & @ foreft weh TeTaighR 1 Algretr weT foifau |

Write the definition and example of any one of the following figures of speech
JHhY, ;|

FHEITIEHE FATASHI AU 9 fofgd | 3
forell T FrTcTgehR 1 w1&Tor ud 3erer ferfaw |

Define and illustrate any one of the figures of speech BJQI'YEEEH'{

39T, TR |
FrefIRgaugal: saigHr iy | 1x2=2
frferfiga dfen o srergerr 1 fidw i |

Indicate the figure of speech in the following lines.

() foramuT TR 9tee |

(i1) 1q *QII(\‘C{G\%I:{’{’NI R WERIHH Y& TqATI |

FLITARGATATIGT T | 1x2=2
frferfaa gt aftamsTa =i qof Hife |

Complete the following definitions of the two figures of speech.

i ST |

(i) Yo FETE |

12



